name: _____________________

date: ___________


Test Two Review – the Atom & the Mole

Directions:  Give the best answer to each question, with a brief but complete response.  Show all work for full credit – careful with sig figs and units!!

1) What is the overall charge on the nucleus of an atom?  Why?

2) In one sentence each, describe the contributions of Democritus & Dalton to chemistry.

3) For each of the following questions, refer to following nuclear symbol for an isotope of potassium:  
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a. How many protons in this isotope?

b. How many electrons?

c. How many neutrons?

d. What would the hyphen notation be for this isotope?

e. What is its mass number?

f. What is its atomic number?

4) How is the atomic number of an isotope different from the mass number?

5) What are isotopes?

6) An isotope of uranium has a mass number of 238:

a. What is the nuclear symbol of this isotope?

b. What is the hyphen notation for this isotope?

7) Discoverer:

   

experiment:

as a result, he discovered:

Sir Joseph John Thompson


Robert Milliken



Ernest Rutherford

8) Mercury occurs in the following proportions in nature.  Calculate the average atomic mass of mercury:

     isotope


     relative atomic mass

percentage
 mercury-200


200.041u

   43.22%

 mercury-201


201.115u

   56.78%

9) How many grams of Cl in 0.0255 mol Cl?

10) Which of the following represents the greatest number of moles – 14.4 g of boron (B) or 2.35 x 1023 atoms of tin (Sn)?  (show all work and circle your answer)

11) How many atoms of silicon in 144.7 g of Si?
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